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What can the increase in the size of the "cousins" be compared to on the periodic table?
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speciflc atoms?
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Compare the number of hairs on the heads of the cousins to valence electrons. How does this ob

relate to Mendeleev's work?
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Why are some cousins smiling while others are frowning? (Hint: Some atoms need only to gain or lose one

two, or three electrons to have a full outer energy shell.)



/alence electrons: j group #: t3 @nonmetal or metalloid? (circle one)

Sketch what he looks like next to his atomic structure:




